A & ol & AF & Ml A
201449 =3 1 3 LE
g 200 Mel+=¢
2 220 AN
gh: 221 THAHOH 2t == (Sl &&)
Z2-2-8-5 Oll &F o JIEH Hns2
E5 Al 14,382,044 14,499, 142 A117,098
200 M2l +=¢ 1,064,268 694,800 369,468
220 A FHAN2 = 972,268 602,800 369,468
221 THAHOH 2 =2 838,505 500,000 338,505
221-03 SR MM+ = 838,505 500,000 338,505
[ 23 ] 838,505 500,000 338,505
<ALDSH > 838,505 500,000 338,505
OLE-0IS=2EHE3A HYEXNZANEES S 338,505 0 338,505
223 JIEt=¢ 133,763 102,800 30,963
223-02 HasH s 17,883 800 17,083
[ 2etsl A ] 17,883 800 17,083
<ALDSH > 17,883 800 17,083
OZMAZHAS(HLU-HSAE2HIZIZA 3 5=3) 17,083 0 17,083
223-09 O2=¢ 15,880 2,000 13,880
[ el A ] 15,880 2,000 13,880
<HAEL2USH > 15,880 2,000 13,880
OJEIE =L (KNEHL 20183 A HatEz) 1,332 0 1,332
ORtBx3&=3 12,548 0 12,548
500 X3 13,305,726 13,792,292 A 486,566
510 = DEX3S 9,385,100 8,421,000 964,100
511 =108Xx=8S 9,385,100 8,421,000 964,100
511-01 =12X3 1,384,100 420,000 964,100
[ el A ] 1,384,100 420,000 964,100
<AEWSH > 1,384,100 420,000 964,100
OoXg2el &M -2 1,211,000 420,000 791,000
OsZ1EN SSANEXE (SSHEE)-(8EH) 60,000 0 60,000
OsZE1NEN SSAEXE (H22S=2E)-(88H) 100,000 0 100,000
OFL=IRMA ZeHe NF(NBES ) 2,100 0 2,100
OEAl At RSE B
AMEEA ESGH(8EH) 11,000 0 11,000
520 Al - SHIEXZ=S 3,920,626 5,371,292 A 1,450,666
521 Al - EHIEZS S 3,920,626 5,371,292 A 1,450,666
521-01 Al - THIEXZ2S 3,920,626 5,371,292 A 1,450,666
[ el A ] 3,920,626 5,371,292 A 1,450,666
<AL SH > 3,920,626 5,371,292 A 1,450,666
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